

Oscillation and Asymptotic Behavior of Second Order Difference Equations With Nonlinear Neutral Terms*

Ethiraju Thandapani[†], Zhaoshuang Liu[‡],
Ramalingam Arul[§], Palanisamy S. Raja[¶]

Received 28 August 2003

Abstract

In this paper, we derive sufficient conditions for the oscillation of all / bounded solutions of a class of second order nonlinear difference equations with a nonlinear neutral term. Existence criterion is also derived for the eventually positive and asymptotically stable solution of this equation. Examples are provided to illustrate the results.

1 Introduction

Consider the second order nonlinear neutral difference equations of the form

$$\Delta (a_n \Delta (y_n - p y_{n-k}^\alpha)) + q_n f(y_{n+1-\ell}) = 0, n \geq n_0 \geq 0, \quad (1)$$

where p is a real number, $k > 0, \ell \geq 0$ are integers, α is a ratio of odd positive integers, Δ is the forward difference operator defined by $\Delta y_n = y_{n+1} - y_n$, $\{a_n\}$ is a positive sequence with $\sum_{n=n_0}^{\infty} \frac{1}{a_n} = \infty$, $\{q_n\}$ is a nonnegative real sequence with a positive subsequence and $f: \mathbb{R} \rightarrow \mathbb{R}$ is continuous and nondecreasing with $uf(u) > 0$ for $u \neq 0$.

When $\alpha = 1$ and $f(u) = u^\beta$, then equation (1) reduces to the equation

$$\Delta (a_n \Delta (y_n - p y_{n-k})) + q_n y_{n+1-\ell}^\beta = 0, n \geq n_0. \quad (2)$$

Furthermore, if $a_n \equiv 1$ and $\beta = 1$, then equation (2) becomes

$$\Delta^2 (y_n - p y_{n-k}) + q_n y_{n+1-\ell} = 0.$$

Such equations have been studied by a number of authors, and some of the related results can be found in [1, 5, 6, 8, 9, 10, 11, 12].

*Mathematics Subject Classifications: 39A10

[†]Department of Mathematics, Periyar University, Salem-636011, Tamilnadu, India

[‡]College of Mathematics and Information Sciences, Hebei Teachers' University, Shijiazhuang, 050016, P. R. China

[§]Department of Mathematics, Kandaswami Kandari's College, Velur-638 182, Tamil Nadu, India

[¶]Department of Mathematics, Kandaswami Kandari's College, Velur-638 182, Tamil Nadu, India

Since equation (1) can be written in the recurrence form

$$y_{n+2} = F(n, y_n, y_{n+1}, y_{n-k}, y_{n+1-\ell}),$$

it is clear that given y_i and y_{i+1} for $-\max\{k, \ell\} \leq i \leq 1$, one can successively calculate y_3, y_4, \dots in a unique manner. Such a sequence $\{y_n\}$ will be called a solution of equation (1). A solution of equation (1) is called oscillatory if its terms are neither eventually positive nor eventually negative, otherwise it is nonoscillatory. In this paper, we are concerned with sufficient conditions for oscillation of all/bounded solutions of equation (1) and for existence of asymptotically stable solutions of equation (1). For related results one may see, for example [4, 7, 13]. Examples are inserted in the text of the paper to illustrate our results.

2 Main Results

In this section, we derive sufficient conditions for oscillation as well as existence of asymptotically stable solution of equation (1). We begin with the following lemma.

LEMMA 1. Let $\{y_n\}$ be a real sequence such that $y_n > 0, \Delta y_n > 0$ and $\Delta^2 y_n \leq 0$ for $n \geq n_0$ and $\{\sigma_n\}$ is a sequence of positive integers such that $\sigma_n \leq n$ and $\sigma_n \rightarrow \infty$ as $n \rightarrow \infty$. Then for each $\lambda \in (0, 1)$ there is an integer $N \geq n_0$ such that $y_{\sigma_n} \geq \frac{\lambda \sigma_n}{n} y_n$ for all $n \geq N$.

PROOF. It is sufficient to consider only those n for which $\sigma_n < n$. Then, we have for $n > \sigma_n \geq n_0$, $y_n - y_{\sigma_n} \leq \Delta y_{\sigma_n} (n - \sigma_n)$ where we used the monotone property of $\{\Delta y_n\}$. Hence $\frac{y_n}{y_{\sigma_n}} \leq 1 + \frac{\Delta y_{\sigma_n}}{y_{\sigma_n}} (n - \sigma_n)$, $n > \sigma \geq n_0$. Also $y_{\sigma_n} \geq y_{n_0} + \Delta y_{\sigma_n} (\sigma_n - n_0)$ so that for any $0 < \lambda < 1$, there is an integer $N \geq n_0$ with $\frac{y_{\sigma_n}}{\Delta y_{\sigma_n}} \geq \lambda \sigma_n$, $n \geq N$. Hence $\frac{y_n}{y_{\sigma_n}} \leq \frac{n + (\lambda - 1)\sigma_n}{\lambda \sigma_n} \leq \frac{n}{\lambda \sigma_n}$, $n \geq N$. The proof is now complete.

THEOREM 1. With respect to the difference equation (1) assume that (i) $p > 0, \ell > k, \Delta a_n \geq 0$ for $n \geq n_0$ and $\alpha \in (0, 1]$; and (ii) there exists β (ratio of odd positive integers) $\in (0, 1]$ such that

$$\frac{f(u)}{u^\beta} \geq M > 0 \text{ for } u \neq 0. \quad (3)$$

If

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\ell+k}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t > 0 \text{ for } \beta < \alpha, \quad (4)$$

or

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\ell+k}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t > \frac{p}{M} \text{ for } \beta = \alpha, \quad (5)$$

where $p \in (0, 1)$ for $\alpha = 1, p \in (0, \infty)$ for $\alpha \in (0, 1)$; and there exists $0 < \mu < M$ such that every solution of the difference equation

$$\Delta(a_n \Delta x_n) + \mu q_n \left(\frac{n+1-\ell}{n+1} \right)^\beta x_{n+1} = 0, \quad (6)$$

is oscillatory. Then every solution of equation (1) is oscillatory.

PROOF. Assume to the contrary that $\{y_n\}$ is an eventually positive solution of equation (1), say $y_n > 0$ for $n \geq N_0 \geq n_0$. Set

$$z_n = y_n - py_{n-k}^\alpha. \quad (7)$$

From equation (1), we have $\Delta(a_n \Delta z_n) \leq 0$ for $n \geq N_0 + \theta$, $\theta = \max\{k, \ell\}$. If $\Delta z_n < 0$ eventually, then $\lim_{n \rightarrow \infty} z_n = -\infty$. Consequently, $\limsup_{n \rightarrow \infty} y_n = \infty$. Thus, there exists a sequence $\{n_j\}$ such that $\lim_{j \rightarrow \infty} n_j = \infty$ and $y_{n_j} = \max_{N_0 \leq n \leq n_j} y_n \rightarrow \infty$ as $j \rightarrow \infty$. Then

$$z_{n_j} = y_{n_j} - py_{n_j-k}^\alpha \geq y_{n_j} - py_{n_j}^\alpha = y_{n_j} \left(1 - py_{n_j}^{\alpha-1}\right) \rightarrow \infty \text{ as } n \rightarrow \infty,$$

which is a contradiction. Therefore $\Delta z_n > 0$ for $n \geq N_0 + \theta$.

If $z_n < 0$ eventually, then $z_n > -py_{n-k}^\alpha$. Hence

$$y_{n-k} > \left(-\frac{z_n}{p}\right)^{\frac{1}{\alpha}}. \quad (8)$$

From equation (1), (3) and (8), we have

$$\Delta(a_n \Delta z_n) - \frac{Mq_n}{p^{\frac{\beta}{\alpha}}} z_{n+1-\ell+k}^{\frac{\beta}{\alpha}} \leq 0. \quad (9)$$

Summing (9) from s to $n-1$ for $n > s+1$, we obtain

$$a_n \Delta z_n - a_s \Delta z_s - \frac{M}{p^{\frac{\beta}{\alpha}}} \sum_{t=s}^{n-1} q_t z_{t+1-\ell+k}^{\frac{\beta}{\alpha}} \leq 0. \quad (10)$$

Let $\beta < \alpha$. If $\lim_{n \rightarrow \infty} z_n = c = 0$, summing (10) from $n-\ell+k$ to $n-1$ for s , we have

$$z_{n-\ell+k} - z_n \leq \frac{M}{p^{\frac{\beta}{\alpha}}} z_{n-\ell+k}^{\frac{\beta}{\alpha}} \sum_{s=n-\ell+k}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t, \text{ or}$$

$$\frac{z_{n-\ell+k}}{z_{n-\ell+k}^{\frac{\beta}{\alpha}}} \geq \frac{M}{p^{\frac{\beta}{\alpha}}} \sum_{s=n-\ell+k}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t. \quad (11)$$

Since $z_{n-\ell+k}/z_{n-\ell+k}^{\frac{\beta}{\alpha}} = |z_{n-\ell+k}|^{1-\frac{\beta}{\alpha}}$ and $1 - \frac{\beta}{\alpha} > 0$, we have $\lim_{n \rightarrow \infty} z_{n-\ell+k}/z_{n-\ell+k}^{\frac{\beta}{\alpha}} = 0$, and therefore from (11), we obtain

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\ell+k}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t \leq 0, \quad (12)$$

which contradicts (4).

If $\lim_{n \rightarrow \infty} z_n = c < 0$, from (4), we claim that

$$\lim_{n \rightarrow \infty} \sum_{s=N_1}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t = \infty. \quad (13)$$

In fact, from (4), there exists a subsequence $\{n_i\}$ and $n_{i+1} - n_i \geq l - k$ such that $\lim_{n \rightarrow \infty} \sum_{s=n_i-l+k}^{n_i-1} \frac{1}{a_s} \sum_{t=s}^{n_i-1} q_t \geq b > 0$, where b is some positive number. Hence

$$\lim_{n \rightarrow \infty} \sum_{s=N_1}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t \geq \lim_{j \rightarrow \infty} \sum_{i=1}^j \sum_{s=n_i-l+k}^{n_i-1} \frac{1}{a_s} \sum_{t=s}^{n_i-1} q_t \geq \lim_{j \rightarrow \infty} \sum_{i=1}^j \sum_{s=n_i-l+k}^{n_i-1} \frac{1}{a_s} \sum_{t=s}^{n_i-1} q_t = \infty,$$

where $n_j = \max\{n_i | n_i \leq n\}$.

From (10), we have

$$\Delta z_s + \frac{M}{p^\alpha} z_n^\beta \frac{1}{a_s} \sum_{t=s}^{n-1} q_t \geq 0. \quad (14)$$

Summing (14) from N_1 to $n-1$, we obtain

$$z_{N_1} - z_n \leq \frac{M}{p^\alpha} z_n^\beta \sum_{s=N_1}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t,$$

or

$$\frac{p^\beta z_{N_1}}{M z_n^\beta} \geq \sum_{s=N_1}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t.$$

In view of $c < 0$, hence $p^\beta z_{N_1} / M z_n^\beta$ has an upper bound. So $\lim_{n \rightarrow \infty} \sum_{s=N_1}^{\infty} \frac{1}{a_s} \sum_{t=s}^{\infty} q_t < \infty$, which contradicts (13).

Now let $\beta = \alpha$. Then, (11) implies that $\sum_{s=n-l+k}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} q_t \leq \frac{p}{M}$, which contradicts (5). Therefore, $z_n > 0$ for all $n \geq N_0 + \theta$. Since $\Delta a_n \geq 0$ for $n \geq N_0 + \theta$ and from $\Delta(a_n \Delta z_n) \leq 0$, we have $\Delta^2 z_n \leq 0$ for all $n \geq N_0 + \theta$. Hence from Lemma 1, for each $\lambda \in (0, 1)$ and such that $\mu \leq M \lambda^\beta$, there is an integer $N \geq N_0 + \theta$ such that

$$z_{n-\ell} \geq \lambda \frac{(n-\ell)}{n} z_n, \quad (15)$$

for $n \geq N$. Substituting (15) into equation (1), we have

$$\Delta(a_n \Delta z_n) + M \lambda^\beta q_n \left(\frac{n+1-\ell}{n+1} \right)^\beta z_{n+1}^\beta \leq 0,$$

or $\Delta(a_n \Delta z_n) + \mu q_n \left(\frac{n+1-\ell}{n+1}\right)^\beta z_{n+1}^\beta \leq 0$, for $n \geq N$, which implies that (6) has an eventually positive solution. This contradiction completes the proof of the theorem.

REMARK 1. The oscillatory criteria for equation (6) when $\beta \in (0, 1]$ are given in [1] and [3].

REMARK 2. Let $a_n \equiv 1$ for all $n \geq n_0$ in equation (1). Then conditions (4) and (5) given in Theorem 1 reduce to

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\ell+k}^{n-1} (s-n+\ell-k+1)q_s > 0 \text{ for } \beta < \alpha,$$

or

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\ell+k}^{n-1} (s-n+\ell-k+1)q_s > \frac{p}{M} \text{ for } \beta = \alpha.$$

The linear equation

$$\Delta^2 (y_n - p y_{n-k}) + q_n y_{n+1-\ell} = 0, \quad (16)$$

is a special case of equation (1). From the above result, we have the following conclusion.

COROLLARY 1. Let $p \in (0, 1)$ and $\ell > k$ holds. If every solution of

$$\Delta^2 x_n + \mu q_n \left(\frac{n+1-\ell}{n+1}\right) x_{n+1} = 0,$$

is oscillatory, then every solution of equation (16) is oscillatory.

EXAMPLE 1. Consider the difference equation

$$\Delta^2 \left(y_n - 6 y_{n-1}^{\frac{1}{3}} \right) + 28 y_{n-1}^{\frac{1}{3}} = 0, n \geq 2. \quad (17)$$

It is easy to see that condition (5) of Theorem 1 is satisfied. Further, it is known that [3], every solution of

$$\Delta^2 x_n + 28 \mu \left(\frac{n-1}{n+1}\right)^{\frac{1}{3}} x_{n+1}^{\frac{1}{3}} = 0,$$

is oscillatory. Therefore by Theorem 1, every solution of equation (17) is oscillatory. In fact $\{y_n\} = \{(-1)^n\}$ is one such solution of equation (17).

EXAMPLE 2. Consider the difference equation

$$\Delta^2 \left(y_n - \frac{1}{6} y_{n-1}^{\frac{1}{3}} \right) + \frac{14}{3} y_{n-1}^{\frac{1}{3}} = 0, n \geq 2. \quad (18)$$

It is easy to verify that all conditions of Theorem 1 hold. Hence every solution of equation (18) is oscillatory. In fact $\{y_n\} = \{(-1)^n\}$ is one such solution of equation (18).

Next we consider the equation (1) with $q_n \leq 0$ for all $n \geq n_0$. For the sake of convenience, we write equation (1) in the form

$$\Delta(a_n \Delta(y_n - p y_{n-k}^\alpha)) = Q_n f(y_{n+1-\ell}), n \geq n_0, \quad (19)$$

where $Q_n = -q_n \geq 0$ for all $n \geq n_0$.

THEOREM 2. In addition to condition (3), assume that $p > 0$ and

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\ell}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} Q_t > \frac{1}{M}. \quad (20)$$

Then every bounded solution of equation (19) oscillates.

PROOF. Without loss of generality, we may assume that $\{y_n\}$ is a bounded and eventually positive solution of equation (19). Then from equation (19), we have $\Delta(a_n \Delta z_n) \geq 0$ for all $n \geq n_0$. By the boundedness of $\{z_n\}$, we have $\Delta z_n < 0$ eventually. If $z_n > 0$ eventually, summing equation (19) twice, then we have

$$-z_n + z_{n-\ell} \geq M z_{n-\ell}^\beta \sum_{s=n-\ell}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} Q_t. \quad (21)$$

Let $\lim_{n \rightarrow \infty} z_n = c$, then $c \geq 0$, we claim that $\lim_{n \rightarrow \infty} z_n = 0$. In fact, if $c > 0$, from (21), we have $\limsup_{n \rightarrow \infty} \sum_{s=n-\ell}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} Q_t \leq 0$, which is a contradiction. Hence there exists an integer $N > n_0 + \theta$ such that $z_{n-\ell} < 1$ for all $n \geq N$. Then from (21), we have

$$z_n + z_{n-\ell} \left[M \sum_{s=n-\ell}^{n-1} \frac{1}{a_s} \sum_{t=s}^{n-1} Q_t - 1 \right] \leq 0,$$

which is a contradiction. Hence $z_n < 0$ eventually. Then, $z_n < -d$ for some $d > 0$. Thus, $-p y_{n-k}^\alpha \leq -d$ or $y_{n-k}^\alpha \geq \frac{d}{p} > 0$. From equation (19), we obtain

$$\Delta(a_n \Delta z_n) \geq M \left(\frac{d}{p} \right)^{\frac{\beta}{\alpha}} Q_n. \quad (22)$$

We note from (20) that $\sum_{n=N}^{\infty} \frac{1}{a_n} \sum_{s=N}^{n-1} Q_s = \infty$. Hence (22) implies that $\lim_{n \rightarrow \infty} z_n = \infty$, which is a contrary to the boundedness of $\{z_n\}$. This completes the proof of our theorem.

EXAMPLE 3. Consider the difference equation

$$\Delta \left(n \Delta \left(y_n + \frac{4}{3} y_{n-1}^3 \right) \right) = \frac{2}{3} (2n+1) y_{n-1}^{\frac{1}{3}}, n \geq 2. \quad (23)$$

It is easy to see that all conditions of Theorem 2 are satisfied and hence every bounded solution of equation (23) oscillates. In fact $\{y_n\} = \{(-1)^n\}$ is one such solution of equation (23).

Finally we consider a special case of equation (19) in the form

$$\Delta^2 (y_n - py_{n-k}^\alpha) = Q_n y_{n+1-\ell}^\beta, n \geq n_0, \quad (24)$$

and study the asymptotic behavior of positive solution of equation (24).

THEOREM 3. With respect to the difference equation (24) assume that $p > 0, \alpha \geq 1, \beta > 0$ and there exists a constant $\lambda > 0$ such that

$$p \alpha 2^{\lambda \alpha k + \lambda n(1-\alpha)} \leq L < 1, \quad (25)$$

and

$$p 2^{\lambda \alpha k + \lambda n(1-\alpha)} + \sum_{s=n}^{\infty} (s-n+1) Q_s 2^{\lambda(n-\beta(s-\ell+1))} \leq 1, \quad (26)$$

holds eventually. Then equation (24) has a positive solution $\{y_n\}$ which tends to zero as $n \rightarrow \infty$.

PROOF. If the equality holds in (26) eventually, then $\{y_n\} = \{2^{-\lambda n}\}$ is a positive solution of equation (24) which tends to zero as $n \rightarrow \infty$. Therefore, we may assume that there exists an integer $N \geq n_0$ such that $n-k \geq N$ and $n+1-\ell \geq N$ for $n \geq N$.

$$p 2^{\lambda \alpha k + \lambda n(1-\alpha)} + \sum_{s=N}^{\infty} (s-n+1) Q_s 2^{\lambda(n-\beta(s-\ell+1))} < 1,$$

and (26) holds for all $n \geq N$.

Consider the Banach space \mathcal{B}_{n_0} of all bounded real sequences $\{x_n\}$ with norm $\|x_n\| = \sup_{n \geq n_0} |x_n|$. Let \mathcal{S} be the subset of \mathcal{B}_{n_0} defined by

$$\mathcal{S} = \{x \in \mathcal{B}_{n_0} : 0 \leq x_n \leq 1, n \geq n_0\}.$$

It is easy to see that \mathcal{S} is a closed, bounded and convex subset of \mathcal{B}_{n_0} . Define a map $T : \mathcal{S} \rightarrow \mathcal{B}_{n_0}$ by

$$(Tx)_n = (\mathcal{T}_1 x)_n + (\mathcal{T}_2 x)_n,$$

where

$$(\mathcal{T}_1 x)_n = \begin{cases} p 2^{\lambda \alpha k + \lambda n(1-\alpha)} x_{n-k}^\alpha, & n \geq N, \\ (\mathcal{T}_1 x)_N + \exp(\varepsilon(N-n)) - 1, & n_0 \leq n \leq N, \end{cases}$$

$$(\mathcal{T}_2 x)_n = \begin{cases} \sum_{s=n}^{\infty} (s-n+1) Q_s 2^{\lambda(n-\beta(s-\ell+1))} x_{s+1-\ell}^\beta, & n \geq N \\ (\mathcal{T}_2 x)_N, & n_0 \leq n \leq N \end{cases}$$

and $\varepsilon = \frac{\log 2}{N_1 - N}$.

It is easy to see that for every pair $x, z \in \mathcal{S}$, $\mathcal{T}_1 x + \mathcal{T}_2 z \in \mathcal{S}$. Further \mathcal{T}_1 is a contraction and \mathcal{T}_2 is completely continuous. Hence by Krasnoselskii's fixed point theorem [2], \mathcal{T} has a fixed point $x \in \mathcal{S}$. That is,

$$x_n = \begin{cases} p 2^{\lambda\alpha k + \lambda n(1-\alpha)} x_{n-k}^\alpha + \sum_{s=n}^{\infty} (s-n+1) Q_s 2^{\lambda(n-\beta(s-\ell+1))} x_{s+1-\ell}^\beta, & n \geq N, \\ x_N + \exp(\varepsilon(N-n)) - 1, & n_0 \leq n \leq N. \end{cases}$$

Since $x_n > 0$ for $n_0 \leq n \leq N$, it follows that $x_n > 0$ for all $n \geq n_0$. Set $y_n = \frac{x_n}{2^{\lambda n}}$. Then,

$$y_n = p y_{n-k}^\alpha + \sum_{s=n}^{\infty} (s-n+1) Q_s y_{s-\ell+1}^\beta, n \geq n_0,$$

which implies that $\{y_n\}$ is a positive solution of equation (24). It is clear that $y_n \rightarrow 0$ as $n \rightarrow \infty$. This completes the proof.

We conclude this paper with the following example.

EXAMPLE 4. Consider the difference equation

$$\Delta^2 \left(y_n - \frac{1}{8} y_{n-1}^3 \right) = \left(\frac{1}{4} - \frac{49}{2^{2n+6}} \right) y_n, n \geq 1. \quad (27)$$

It is easy to see that all conditions of Theorem 3 are satisfied. Therefore, equation (27) has a positive solution $\{y_n\}$ which tends to zero as $n \rightarrow \infty$. In fact $\{y_n\} = \{\frac{1}{2^n}\}$ is such a solution of equation (27).

Acknowledgment. The second author is supported by the National Natural Science Foundation of Hebei province.

References

- [1] R. P. Agarwal, *Difference Equations and Inequalities*, Second Edition, Marcel Dekker, Newyork, 2000.
- [2] L. H. Erbe, Q. Kong, and B. G. Zhang, *Oscillation Theory of Functional Differential Equations*, Marcel Dekker, New York, 1995.
- [3] J. W. Hooker and W. T. Patula, A second order nonlinear difference equation oscillation and asymptotic behavior, *J. Math. Anal. Appl.*, 91 (1983), 9–24.
- [4] W. T. Li and J. R. Yan, Oscillation of first order difference equations with nonlinear neutral terms, *Dynam. Cont. Disc. Impul. Sys.*, 6(1999), 337–344.
- [5] E. Thandapani, Asymptotic and Oscillatory solutions of a second order nonlinear neutral delay difference equations , *Riv. Math. Univ. Parma*, 1(1992), 105–113.
- [6] E. Thandapani, R. Arul and P. S. Raja, Bounded Oscillation of Second Order Unstable Neutral Type Difference equations, *J. Appl. Math. Comput.*, to appear.

- [7] E. Thandapani, J. R. Graef and P. W. Spikes, On existence of positive solutions and oscillations of neutral difference equations of odd order, *J. Difference Equ. Appl.*, 2(1996), 175–183.
- [8] E. Thandapani and K. Mahalingam, Necessary and sufficient conditions for oscillation of second order neutral difference equations, *Tamkang J. Math.*, 34(2003), 137–145.
- [9] E. Thandapani, K. Mahalingam and J. R. Graef , Oscillatory and asymptotic behavior of second order neutral type difference equations, *Inter. J. Pure and Appl. Math.*, 6(2003), 217–230.
- [10] E. Thandapani and P. Sundaram, On the asymptotic and oscillatory behavior of solutions of second order nonlinear neutral difference equations, *Indian J. Pure Appl. Math.*, 26 (1995), 1149–1160.
- [11] E. Thandapani , P. Sundaram, J. R. Graef and P. W. Spikes, Asymptotic properties of solutions of nonlinear second order neutral delay difference equations, *Dynamic Systems and Appl.*, 4(1995), 125–136.
- [12] J. Yang, X. Guan and W. Liu Oscillation and asymptotic behavior of second order nonlinear neutral difference equation, *Ann. Diff. Eqns.*, 13(1997), 94–106.
- [13] Z. Zhang, J. Chen and C. Zhang, Oscillation of solutions for second order nonlinear difference equations with nonlinear neutral terms, *Comput. Math. Applic.*, 41(2001), 1487–1494.